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= 5 1O % 2- M % 3- P8 % 4 P04 8
4RB138~7AR1818) (7H18B8~10H 10 8) (log1oH~1A15H) | ( A B~ A H)
1 131 = 06 133 £+ 0.6 132 = 0.5
2 131 = 1.0 137 = 1.7 137 = 0.5
3 113 £ 1.1*7 113 =+ 1.1*3 113 == 05*°
4 154 =+ 2.2*1 158 =+ 1.1*3 156 =+ 1.9*°
5 155 =+ 0.9*? 160 =+ 1.3** 160 =+ 05
6 122 =+ 0.9*? 123 += 1.3** 123 =+ 05
7 115 =+ 1.6*2 119 =+ 1.9*¢ 117 == 1.1
8 135 = 15 139 £+ 06 136 = 0.9
9 119 = 06 122 £+ 00 123 = 14
10 110 = 0.6 108 £ 0.6 109 =+ 0.0*°
L 5 5 BB 47 == 06 47 = 04 47 =+ 06 +
4HF78B~78248) 7RA11H~ 10A20H) (10A3B~1A8198) @4f878~78248)

* 1 EXEHMEIE4 128~ 7B 18 BTHS, * 4. BREHMIETA 198~ 10 A 10 BTHS,
* 2 REHMIT4 A 128~ TA19BTHD, * 5 BREBELHMIT 108 11 B~ 1 B 15 BTHA,
* 3 HEHEE 7B 8B~ 108 11 BTHD. *6:REHMIZ10A 108~ 1 A 16 BTHD,

E) 1RAVMEYREASARER 3 EEEFHE (K13 4+ AR INMFEICREL . BEREZAEL
AERBREIERAOMIETHAEBDOTEIMEELL . REJREREZRLI=,
HERBEFERRIELILIF—ZDEHEESHERBELLOICHAATSRRES 6 BEREAN T+
A—DIMBHANITREL. ARICEEREZAEL . 6. ERAULDAERBRENSLLEARB D
BIERREBLHEFIL TG,



